j/b\éumévs 6

m:gl,{aa,

5 Kk= 200N /n D)
{’;D P

[ e ] '_]\/L\\
- b\/\ LY




§ ey i oy e -~ JE

: 5 5 : : [ :
@ W€ foLéz = V| 4’\/<! —\/lJr\Al = J kY.Q-F_ Uf*:/{u;,(jwl’m,{? =>A = kb(f+muj A
| il el =
= 1@615{_—095\)14_ S(I‘jl o f‘;\ O “Df’; | .
1660 L P s B Rl ||
) Y -0 oS
=9 Ta { )_ i s 8-
ceslipl s oS Snes elaRe el
ol ) B
bl i st e :
M \3 ESC'L‘?) :Cabfula) /
e ey s
S —}
v H—WAS|WCM+‘1"> =) &)= e St W s | e e b |
A SRR Sekand )}O\rkuu_a

/ P o0
@\\0 A E«{) = - Q; 3¢é6 ya_;g ,‘ﬁ\--f\p “\.\x
. SEnE ARIRGERS . Rl 2 o e s e
@ MQ = \/““1-&)‘ 34 _kal = F.?_— one CO/O?—L) SHirere e j @\_/ ¥ :




LYMAT A < Beore AN ™

A an e _ \ é)/u;x\ogla M
T laaee s e

T = b 7 /
lf)b("{5 i e ol B 0 = {3~

Y (x) = Ciceta)

Fiex) = Lx=%/
,J
/ 2

WCCXJ {-):CY‘U{?)
e d) - fCXiU%)




//L\Gbméw V

L(Jp-ou — $fia
& Seatis B0V
L [ e
=B Ad) (:S: 26 .8

2
< 85X

BT_ 20« € T

(X ey '

s — _
%(?{J‘Lw P 20 . 6
7

HQ$C_3/§H2.Q> ; : yagz : 3

563&)2)120‘8 12@,60f§6 /):2046 Qf)

=7y Kj: l?’/GSM



Aﬁ;)‘il’ A Prbv Iwc; ll(.'.)r/l&k.

5 Léupua_Zﬂ PJ 9&,4,_35

N 7
Lb (Y)Q:A CQSK@iU{-)ZACGSZVfo Lcuﬁ}
24
= Q;j ~2nd =
ix.;_Q-_;_ (3 (x‘) L) = C-Déékyfw£>
sy oy, £
5N

LN




/5 }waoﬁ b pges

=
2 Snlaces




{qupaw.., (Sai{ru-q,f V"M:-é,.g'a..,l\a &% g S 5 ﬁ
A =5



